ERRATA

3,line 3up: Change B(0,27™"1) to B(0,2-1)
11,line 12dn: Change C},(RY;C) to CZ(RY;C)
19, line 8dn: Delete [[{] from this line

. 21,line 4up: Replace by
Proof Observe that u can be replaced by |u| and therefore that one can assume
that u > 0. Set...

T 9PV

p. 28,line 7up: Replace [y — x| < byly — x|? <

p- 33,line 12up: Replace 221 by 2721

p.- 35,line 7Tup: Replace |k — m|joc =1 by |k —m]|; =1
1 N

p. 35,lines 3up and lup: Replace (2V+1N)» by 2%

p. 35, footnote: Replace ||x||oc = maxi<j<n |z;| by [|x]1 = Zjv:l ||
1 N

p. 36,lines 5dn and 3up: Replace (2Nt N)» by 2%

p. 45,line 9dn: Replace 2% by 272

p. 53,line 14dn: Replace [, by [;

p. 65,lines 8dn—17dn: Change to

such that

H:={(t,y): te[0,s] and |y —p(t)| <2r} C &,
[s — 7, 8] x B(x,2r) C &, |p(t) — x| < for t € [s —r,s],and u(t,y) > u(0,0) + ¢ for
(t,y) € [s — 1, 8] x B(x,2r). Next, set
O(w) =inf{t >0: (t,wt)) ¢ H} and ((w) = inf{t > s —r: w(t) € B(x,2r)},
and observe that |w — plljs <7 = ((w) < ¢(”(w). Hence, since
u(0,0) = E™ [u(¢ A ¢, w(C A CP))] 2 u(0,00W(CD < () + (u(0,0) +)W(C < ¢P)
=u(0,0) + IW(¢ < ()
and W(¢ < ¢?) = W(Jlw — plljo,s) <) > 0, we would have the contradiction that
1(0,0) > u(0,0).
76, lines 7Tup & 4up; p. 77, 1dn: Change I, to I,
77, lines 10dn & 11dn: Change m < 2" to m < 2"t
80, line 7dn: Change “a is” to “is a”
80, line 13up: Change u; to u(t, -)
80, line 11up: Change 1(44 to 1jpa)p()
87, line 9up: Change 2% to 273

111, line 13up: Change M (Cpn)| > 27" to M ((mopnyr)| > 27778
1
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ERRATA

112, line 8dn: Change 2'72" to 417"

122, line 2dn: Change o(7)"dA(7)o(7) to o(7)dA(T)o ()"
124, line 6dn: Change V(5)p to V%Q)w

128, line 15dn: Change 0~ 1¢ to o~ 1(7)¢

133, line 4dn: Change d(z(7) to dX (1)

p- 133, line 1lup: After “derivatives,” insert “assume that the first derivatives of
Zle Ly, Vi are bounded,”

p. 155, line 9up: Change |7] to |7,

TT YT

p- 166, line 7dn: Insert “equation” after “stochastic integral” at the end of this
line

p. 166, line 3up: Change (x§,...,zf,) to (zf,...,z%)

p. 167, line 3up: Change ij\imﬂ to Z;y:mﬂ

p. 168, line 6up: Change L = Z;V:1 to L = %Zjvzl

pp. 168 & 169, lines 4up & 6dn: Change = Aj; to = %AM

p. 180, line 7dn: Change (f5 + e)ﬁ for (fs + 6)571

p. 184, line 9dn: Change D, (7, x) to Dp X (7, x)

p- 188, line 4dn: Insert dt before >

p- 190, lines 3 & 4dn: Change the right hand side of the equation to
Al <(D(¢ o X(1,z), DX (1, x))Hl(R)>

(D((p o X(1,z), DX>5(1, x))Hl(R)

1
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Zamy L —2m
p. 191, line 1lup: Change eem (@k* X5 i gem(ak™2™)5
p. 192, line 2dn: Change to

oo N 1

_ —2my1 _ Fs o 2 _ 2
§ e em (ak ) <e Ema™ § e emk + § e emk
k=1

kga2ml+5 k>a2ml+5
. ) 1 1
p. 192, lines 4& 5 dn: Change — to =5

p. 193, line 7up: Change fi to fsl
p. 194, lines 1 & 2 dn: Change Y ;_, to Y ;-
200, line 4up: Change (D@l,DWZ)%z(W;Hl(RN» to (D®1, DV2) 2w, 11 (rYY)



